B HRER (IEiEO)

ROBYLFEAELBI LI,
|2x—y:7 5 z—4y=—6
3r+y=28 z+3y=38

RO HEREWEZI,
z+2y=11 5 dr+3y=-—1
r—2y=1 dr—2y =14

ROBEILFBEAZE MBI IRI,
1 |x+2y:3 5 z—4y=2

—x+y =6 3r—dy=-2

—dz+y=13
2z +y=1

—3z+4y =5
3z + 6y =15



RO FTER & DL CHEE 230,

4z + Ty =18 2 2z — 3y =12
4z +3y =10 2z —5y =16
5z + 3y = 29 5 [fE=dy=31
2z + 3y =26 2z — 3y =25

RO FTER & DL CHEE 230,

S5z + 4y =40 9 3r—5y=21
3r—4y=-8 8z+5y=1
22 +Ty =64 20 —Ty=—14

—2x + 5y =56 —2x+9y =22

5z + 4y = —10
5z — 3y =25

x—6y =37
S5z — 6y =65

9z + 7y =10
3z —Ty =50

—5r+3y=—13
5z — 9y =19



[6] ROEILFEAEME LI,

r+2y=4 © z+y=3

2x+y=-17 ) z—y=—2
2z +3y = —13 2 —y =1
z+2 =4 " z+2y=11
z+3y=6 Jz—2y=1



